W UCA | Uriggsised

Tema 3

Ejercicios resueltos de derivadas
polinémicas

M. Duenas, R. Pdez, C. Valverde.

3.1. Calcula la derivada de las siguientes fun-
ciones:

Ejercicio 3.1.1. f(x) = T2% + 2.
Solucion:

fl(x) = (3- 712G 40 = 2122

Ejercicio 3.1.2. f(z) = —3z' + 52% + 13z + 7.
Solucion:

fl(r)=—(3-4)2"V 4+ (5-2)r +134+0 = —122° + 10z + 13

Ejercicio 3.1.3. f(z) = 7z* — 52% + 8\/x.
Solucion:

f(z) = T2* — 52® + 8w = Ta* — 52°% + 8z'/2,

luego:
1 8
fl(x) = (7-4)2%D — (5.3)2G~1) + (8- 5)1‘(1/2*1) = 2823 — 1522 + 5:13*1/2 =

8 1 1 4
=28x% — 152 + — - —= = 2823 — 1522 + 4— = 2823 — 1522 + —
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1
Ejercicio 3.1.4. =4x° — —.
jercicio f(z) = 4x 5.7
Solucion:
1 -2 1
f(x) =42° — 3= 4o’ — % = 427 — gx_z,
luego:

Fla) = (4-5)a 0 -

3
Ejercicio 3.1.5. f(z) = 225 + % + 222 — 3.
Solucion:
a? 2 52, L 3 2
f(x):2\/5+?+2x —3 =225 + 500 + 227 =3,

luego:

5
—_1 1
fi(z)=(2- 2)90(2 '+ (5 3)2G-1 £ (2-2)2 D —0=

3 3x?
:5333/2+§x2+4x:5\/:c3+%+4a:

5 3 _ 3 2
Ejercicio 3.1.6. f(z) = i
2z
Solucion:
5% —3z*  ba*—3x 1,
luego:
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1
Ejercicio 3.1.7. f(x) = 14/—5.
x

Solucion:

luego:
5 ( ) 5 ) 5 5.1
_—_1 _— s A
Ejercicio 3.1.8. f(x) = \x/f
Solucion:
1
N (53 o
f(x):§2?2$2 =22,
luego:
5 (=5-1) 5 5 5
/ _ _ = — _ T2 - =
f'(z) o7 9, 7/2 N
4a3 — 3
Ejercicio 3.1.9. f(z) = %
Solucion:
43 — 3x 3
= =23 — =
luego:
3 3
f'(z) = (2-3)2B~Y 5= 6% — 3
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4 xd 2
Ejercicio 3.1.10. f(z) = ——— + = — 4a® 4+ 2z — 1.
T i
Solucion:
423 2 3/2
flz) = 21; -4 2 -1 = —— 4207 4P 2 -1 =
T X X

=42 42t —4gd 4 20 — 1 =4a V2 4 2071 — 4B 4+ 20 — 1,

luego:
1
f'(z) = -5 432D 4 (=1-2)21D) — (3. 4)2B D 42 -0 =
= 22732 2172 — 12 2+2——i—3—12 242=
== T X i = 333/2 Z‘2 T =
2 2
== 122242

Vad o x?

Ejercicio 3.1.11. f(z) = (x + 2)? 4 32?2
Solucion:

flx) = (x+2)2+ 322 =22 + 4 + 4o + 322 = 42® + 4a + 4,
luego:

fl(@)=(4-2)2® YV +440=8zx+4

Ejercicio 3.1.12. f(z) = (z — 3)%z — 2(2* — 1)2.
Solucion:

f(x) = (x —3)%x —2(2? = 1)? = (22 + 9 — 62)7 — 2(2* + 1 — 22%) =
=234+ 92 — 62% — 22* — 24422 = —22* + 2% — 222 + 92 — 2,
luego:

fl(x) = —(2-4)2UD +326-Y —(2.2)2C1) 49 -0 = 8%+ 32> — 42+ 9
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